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If a,b,c,d are in GP, then which of the following is correct?

a +b*. b+, ¢t +d* are in GP. a+ 4!32,.’5J+r:2,{:+d2 are in GP.

a—b*.b—c*, ¢c—d* arein GP.

() Option3
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a, b, care in AP and a, x, b and b, y, c are in GP, then

bt = x?y? 2 =x* +y

Option 1 @ Option 2 v

B = x4y

Option 3
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If , , are three consecutive terms of an AP, then
a+b 2b b+c

a, b, ¢ are three consecutive terms of an AP, a, b, ¢ are three consecutive terms of a GP.
() Option 1 @ Option 2 v

1 11 ]

-, E — are three consecutive terms of a GP.

a e

O Option 3
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